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& NSAHAELES &5 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 73.269
s 1,550,000
= 15,000
s 6,359,559
WEANTAILE &5 2,266,174 1,180,454 1,085,720
s 1,500,000
s 766,174
WSUHTAILE X & B+ 266,174 680,454 A 414,280
201 L2l 32,000 37,000 A5,000
01 At 22l 2,000 2,000 0
OLSCHEANEZS FA2el 228 2 2,000
02 25=24gHl 30,000 35,000 A5,000
Oz&22= & HA 30,000
— IS (BEMSS, 2ES)
2,500,000& x12& 30,000
401 AIEHI L 2CHEI 234,174 643,454 A 409,280
01 A& Hl 232,500 642,500 A 410,000
ORSHEALE (BAIZE) 84X ¥ WAl 142,500
— A& AHE 35,000& 2004 7,000
— S 2BHALE 400,000& 504 20,000
— WStd HE X 400,000& *50H 20,000
-2 10,000,000& *3H £ 30,000
- 288 10,000,000 *20H A 20,000
—dSE 5,000,000 =44 2 20,000
—HA 2 EXE 1,500,000 *5H 2 7,500
—&3&s 1,500,000& =124 18,000
OAIJFXl Xt & A4 40,000
OASHHIMNH 25,000,000 *20H A~ 50,000
03 AIE 2 THHI 1,674 954 720
OLSeHEAES X 232,500,000& *0.72% 1,674
stshtsit SR AL 1,500,000 500,000 1,000,000
s 1,500,000
401 A& HIZ 201 I 1,500,000 500,000 1,000,000
s 1,500,000
01 A& HI 1,494,600 496,425 998,175
OstsXtsi sEx0X £X 1,494,600
s 1,494,600
03 Al 2 THHI 5,400 3,575 1,825
Ost=XHsSx SSXAX £X
1,500,000,000& *0.36% 5,400
s 5,400
}SASHBIXNDN AsL= W4 500,000 0 500,000




- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
401 AlEHIZL 2 0HY| 500,000 0 500,000
01 Al&H| 496,400 0 496,400
OS2I NLDN sz A 496,400
03 A& £ 0HH] 3,600 0 3,600
Ot ANsSHIEGXUNIDN sz 4
500,000,000 *0.72% 3,600
SEAA =Y ,593,198 , 776,604 816,594
= 43,269
Fag 50,000
& 15,000
o 5,484,929
sHEHA HE XIS 3,600,000 2,600,000 1,000,000
307 giztol A 3,600,000 2,600,000 1,000,000
09 2L HEXZ 3,600,000 2,600,000 1,000,000
OHEX ABAZS(17HEA) 1,000,000
OBIILHE SHEHA MEXNKZ2R21MH) 1,600,000
OsHEHA L2 H MEXKS 600,000
OFH2A12F 2 2AI2t & X3 400,000
SEHA 2 XA 42,000 144,000 A 102,000
402 BI2H X 20| M 42,000 144,000 A 102,000
02 QIZEXIEAISE X (0| XM THL) 42,000 144,000 A 102,000
O2g9HA 22 XA 21,000,000 *=2CH 42,000
SIIEXZ2 X2 1,500,000 1,450,000 50,000
307 2iz2to| A 1,500,000 1,450,000 50,000
09 2 HEXZ 1,500,000 1,450,000 50,000
OXNEX 24 KIEAH| 1,500,000
sSEY WERg 140,300 140,300 0
Fag 50,000
= 15,000
= 75,300
301 et A= 140,300 140,300 0
g 50,000
= 15,000
= 75,300
12 JIEtE A= 140,300 140,300 0
OZQ #=(1008) SAl 28 X
6,100,000 *23J 0t = 140,300
g 50,000
= 15,000
= 75,300
EHAl 2EXF 2 Ak 73,000 73,000 0
= 3,900
= 69,100
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ORNsE&MXIII ZHO 22 M=E
200 x7,0000H 1,400
307 2iz2to| & 15,000 15,000 0
02 DI AAIE E X 15,000 15,000 0
OunsE XNZo 2=sXe 15,000
AZAHOESEF=E 22 16,400 0 16,400
201 LBt Y| 16,400 0 16,400
01 AP 22| d| 6,800 0 6,800
OBYFAY 2283 Y (T4 S)
400,000 ~12€ 4,800
OLYANE EH =42 2,000
02 2%l 9,600 0 9,600
OZ2EFIE 2222 800,000& x12& 9,600
METHGHO S 2 SE2s82435 6,248,000 8,118,000 A 1,870,000
= 4,124,000
= 2,124,000
Mol RIEX T HH AL 6,248,000 8,118,000 A 1,870,000
= 4,124,000
= 2,124,000
KNAMMHAE MR 2 ZH (Y X F) 2,000,000 4,400,000 A 2,400,000
= 2,000,000
401 AlEHIZL 201 Y| 2,000,000 4,400,000 A 2,400,000
= 2,000,000
01 Al&H| 1,739,229 3,789,200 AN2,049,971
O2Y NAMHRIEMA X A 1,739,229
= 1,739,229
02 2elbl 250,000 600,000 A 350,000
O=2Y NAMMHRAEIMNE X P AUl HEAS 2
R=ge: 250,000
= 250,000
03 Al 20| 10,771 10,800 A 29
O=2Y NAMHREMSE X T A 10,771
= 10,771
KATHMHNAE NS K 2 ZH| (22X ) 2,048,000 1,000,000 1,048,000
= 1,024,000
= 1,024,000
401 Al HI L 204 HI 2,048,000 1,000,000 1,048,000
= 1,024,000
= 1,024,000
01 Al&H| 1,640,654 793,700 846,954
ogst NHAMHRIEMA X7 A 1,640,654
= 616,654
= 1,024,000
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I WM S s2s52 3
S Mol RISX? ZHIAY (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
02 2feldl 400,000 200,000 200,000
Ogo MHAMHAS N7 Il ALAS 2
|4 400,000
= 400,000
03 AlE 2 THHI 7,346 6,300 1,046
O TtAMHIEMNE X+ HH 7,346
= 7,346
KNS IS A X = I (2HEFXI ) 2,000,000 300,000 1,700,000
= 1,000,000
[Ea 1,000,000
401 AlEHI R0 8] 2,000,000 300,000 1,700,000
= 1,000,000
a 1,000,000
01 Al&HI 1,792,826 297,840 1,494,986
OPer TAMMASEMNE X FH 1,792,826
= 792,826
= 1,000,000
02 2feldl 200,000 0 200,000
O2et MHATHHAS NI 7 Il AL AL 2
clE24 200,000
= 200,000
03 AlE 2 THHI 7,174 2,160 5,014
O2AE TUATHHKASEINLX T FHl 7,174
= 7,174
NATHHAE R LXK 7 HEI (S X 7) 200,000 0 200,000
= 100,000
s 100,000
401 AIEHI L 2CHYI 200,000 0 200,000
= 100,000
s 100,000
01 Al&HI 198,570 0 198,570
ootz TAMMAEMNL X+ FH 198,570
= 98,570
= 100,000
03 AlE 2 THHI 1,430 0 1,430
Ofts AT AS N X7 FHl 1,430
= 1,430
ot & F bl 5,478,986 3,720,482 1,758,504
= 1,894,000
s 3,584,986
ot& EHI A 5,478,986 3,720,482 1,758,504
= 1,894,000
= 3,584,986
ot& A& AL 1,159,158 2,127,722 A 968,564
401 AIEHI L 2CHYI 1,159,158 2,127,722 A 968,564
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Za: ot d Py
& SHEEHIALE (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& HI 1,155,000 2,120,000 A 965,000
ODI2EX 24l 1,000,000& *200& X 200,000
Oot&EAlE 22 10,000,000& «5H £~ 50,000
OMHASAE & JIEAIE HE=>
5,000,000 *100H & 50,000
OMaAAE A6t AIZAS
10,000, 000& *109H £ 100,000
Odtd HeEE=2 & 252 IH
5,000,000 *100H & 50,000
OZ& Had Mg 50,000
O AAA H| 50,000
O RS A Fl 90,000
Oss d49d i 50,000
Oss 323 &l 50,000
Oss g3 3l 30,000
Os=s Z&d &l 20,000
OAEA dtatEel 30,000
ouot ss& El 50,000
ouot =wa& Fl 50,000
ORg ostd =4 10,000
Oz 23 Mg=ZH 30,000
O2d =228 NEZEH 50,000
Oozg E&& &l 30,000
O=z2d d0Hd MEZHE 25,000
Oogd ZAd Fl 90,000
03 AIE 2 0H I 4,158 7,722 A 3,564
OdtE A& ALY 1, 155,000,000& *0.36% 4,158
ot& =Xl 2el 588,150 346,760 241,390
201 2yt 2 Y| 68,150 46,760 21,390
01 At 22l 60,150 46,760 13,390
OsJIEE2 15,000& 550 Xl 8,250
Odtd == HA LU= (M=EINIZLE)
660,000 »20 13,200
OoMois2=7 & MEEX HULUHZ(HS2
,g) 550,000& »40CH 22,000
O%StErA ol M ¥ ldEH Xz
550,000& = 10CH 5,500
Odtd SR &, &% = 2|
8,000& x4 100! 3,200
OGtEAEE & ZH |X2el 23 3,000
Octd=gde 3= HAE
500,000 * 1094 2 5,000
02 =224l 8,000 0 8,000
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Y ot EHI
& SHEEHIALE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O&J|, SER= 5,000
O &l AZHI(L=2=I,I1HS) 2,000
O Ul XZel8l(Z=I1,I1HS) 1,000
401 Al HIZ 2018 520,000 300,000 220,000
01 A& HI 520,000 300,000 220,000
OXlgotd, actd &4 & E=
10,000,000 *209H £ 200,000
OXlgotd, Actd ANE=S RA2a
10,000,000 *109H £ 100,000
OXlgotd, Actd HMYEZ2 FH|
10,000,000 *209H £~ 200,000
O&UWAI= HE A =22 |RX 22 20,000
Aot® HEI(HAHA) 1,543,678 606, 000 937,678
s 800,000
[ia 743,678
401 AIEHI L 2 CHYI 1,543,678 606,000 937,678
s 800,000
s 743,678
01 A& HI 1,538,140 602,206 935,934
OHatAGHE FHl 1,538,140
as 794,462
= 743,678
03 AIE S THHI 5,538 3,794 1,744
O4daAdHE &l 1,538, 140,000 *0. 36% 5,538
s 5,538
Ao HEI(ZaA) 982,000 320,000 662,000
s 491,000
s 491,000
401 AIEHI L 2 CHYI 982,000 320,000 662,000
as 491,000
s 491,000
01 A& HI 975,852 317,712 658, 140
OgoAstd &l 975,852
s 484,852
s 491,000
03 AIE 2 THHI 6,148 2,288 3,860
OgaAsta &l 975,852,000& *0.63% 6,148
s 6,148
A6tA HEI(s4YH) 462,000 320,000 142,000
ras 231,000
[ia 231,000
401 Al HIZ 2018 462,000 320,000 142,000
as 231,000
i 231,000
01 A& HI 458,697 317,712 140,985
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Za: ot d Py
& SHEEHIALE (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Osg A5t Fl 458,697
s 227,697
[ia 231,000
03 A& 2 THHI 3,303 2,288 1,015
OsgLsta &l 458,697,000& x0.72% 3,303
s 3,303
Lot HEI(FSA) 372,000 0 372,000
s 186,000
s 186,000
401 Al HI 2 28I 372,000 0 372,000
s 186,000
s 186,000
01 A& HI 369,340 0 369,340
OFs4actd &l 369,340
s 183,340
[ia 186,000
03 AIE 2 0H bl 2,660 0 2,660
OF=40td &l 369,340,000& *0.72% 2,660
= 2,660
AGHA FHI(ABHXIA ) 372,000 0 372,000
s 186,000
s 186,000
401 AIEHIZ 28I 372,000 0 372,000
s 186,000
i 186,000
01 A& HI 369,340 0 369,340
OLH5H X 2ot & &b 369,340
as 183,340
e 186,000
03 AIE 2 0H bl 2,660 0 2,660
(OFixe] PNEAY S FSIPSYs ] 369,340,000& *0.72% 2,660
= 2,660
HY I (& 22| Dt) 318,293 288,416 29,877
el 2 213,031 191,083 21,948
ol Al 213,031 191,083 21,948
101 14 dl 213,031 191,083 21,948
01 B 124,530 120,481 4,049
OAZte22aY FHZ(25Y) 30,200
— 6= 11,4013 «8H «10Al 2t + 128 10,945
— M2 (U2)
10,793& x 1H «10Al 2t* 128 1,296
—-72 10,2993 x5 x10A| 2t+ 128 6,180
— 8= 9,246 x7H +10Al 2tx 128 7,767
- 9= 8,357&3 x4 H «10Al 2tx 1228 4,012
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